[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

track x?

9] F 1%} F 4] 0
X Fo X Fo X X
[*] r 5] N 5] 5]
g E 8 L g g
= 10°F 3 10°F 5 b
E =} E < g
b I 8 8 102
F F =
10°F 10°F 8
10°F i 10°F i
10f--}- 10f- - 4-
1§_ i” 1 1 1 1 N [l 1 1 1 o o
LR SO SRR G o wpt o i
5] S e E R RN ¥ i IS 1@&@;%11' ] Y
& “J,'l‘{‘lnl.‘:!’” i ] : ! & 3 b @ -
(EaF T 0 0.9) Il
Tl A 1 b . j
0.8F b v e e A R b ) oo YR L R LT 06F === A TR I R R
0 2 4 6 8 10 12 14 16 18 20 O"L 2 4 6 8 10 12 14 16 18 20 0 2 4 6 12 14 16 18 20 0"0 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2
——— T —+ ") T
[ Nof reco track vs. { ——— Eggiiaeﬁ&éﬁ}"%eﬁess orser
(%] 1%} F 2] 0
X . . . . . . X F . X X
[} . . . . . . [} =3 =
g T g ., g 8
5 510 5 s
[ [} Q
E 3 8 102
= = © 10
(=%
10° 3
10°F
Ev
i
i
10
[ 1
1
2 2 ‘ﬁ‘ N 2 g
© ol ol Iol
2 o v '1 x x 12
\
0.5p- - {- | Y
: 1




	Contents
	Page 1


